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fit % BYEFT BT T
9,883 (23,163)

9 21,832 21,594
- 1,938

5 (1,150) (1,465)
5 (10) 9)
5 (851) =
6 2,164 1,583
6 4 816
6 36,034 39,286
6 20,581 20,532
6 658 1,510
6 2,902 =
6 5,049 7,746
97,096 70,368

(73,613) (33,519)

(49,133) (27,870)

4,710 (14,553)

56,939 26,140

46,638 13,132

82,637 33,698

- 2,205

(2,973) (2,726)

79,664 33,177
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2 W F & 1,150 1,465
BABTEEE 34(a) % (b) (72,910) (16,336)
HEBRTEEEMGHKE 1,134 2,711
tﬂﬂﬁ%f‘g@?ﬁﬁ%ﬂlﬁ — 3,905
HEWNB R 34(a) 1,469 —
%EH%EF 15 (17,038) (22,534)
HERAKREMSHIE 851 59
Bt &N ARG 0, O d) 61 (770)
HINE B AT BHFER (3,111) —
REREEBF 2R R T FE (88,394) (31,500)
REMEETH2EHERE
EENRANS (21,474) (21,192)
B E M %ﬁ HeoFBEH D (553) (402)
REBERER - 11,700
ERNEZEER 11,700 —
EEBEEEN (5,850) —
BTROAX 31 - (50)
%Eﬁxﬁﬁﬁiéﬁ 54,895 27,168
BEIIRITER (28,772) (36,795)
= 5T W B SRS N 43,834 18,312
MEMNEES 2 BRI D (4,235) (5,267)
REMEBEEBCEHERAA (RE) EF5 49,545 (6,526)
ReERBESEEYHEM CAL) BE 40,815 (4,849)
FHYZ2RERREEEY 22,350 18,930
EREE s E R 516 8,269
FRZEESRESEEY 63,681 22,350
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BehIREeFEEY 69,333 33,672
RITHEX (5,652) (11,322)
63,681 22,350




